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TP95S 42
100.00 m
4.6 m/
A-1 @400 ( )
@400mm L=2.00m 42 27,000] 1,134,000
1.0 14,300,700| 14,300,700 B-1
1.0 881,100 881,100 B-2
1.0 1,327,671 1,327,671 B-3
1.0 229,096 229,096 B-4
100.00 17,872,567
im 178,726
B-1 1
@400mm 100.00 139,649 13,964,900 C-1
100.00 3,358 335,800 C-2
14,300,700
B-2 1
@400mm 100.00 2,846 284,600 C-3
@400mm 100.00 5,965 596,500 C-4
881,100
B-3 1
@400mm 2.0 139,484 278,968 C-5
1.0 460,500 460,500 C-6
230,250 C-6>50
156,152 C-7
1.0 67,700 67,700 C-8
( 67,700 C-9
( 1.0 189,600 189,600 C-9’
100.00 1,734 173,400 C-10
100.00 1,475 147,500 C-11
1.0 10,003 10,003 C-12
1,327,671
4.6 m/
Cc-1 1 m
1.0 20,300 20,300
2.0 17,000 34,000
3.0 13,700 41,100
4.9t 1.0 31,000 31,000(H16.5 P731
1.0 508,401 508,401 C-1-1
1.0 7,584 <6
642,385 1
im 139,649 =




C-2 1 m
1.0 13,006 13,006 C-2-1
m3 1.22 2,000 2,440
15,446 1
im 3,358 =
C-3 1 m
0.051 25,000 1,275[H16.5 P314
kwh 4.4 13 57
m 1.0 1,514 1,514 C-3-3
2,846
C-4 1 m
KM-5 kg [ 0.52 2,340 1,205[ H16.5 P314
kwh 8.8 13 114
m 1.0 4,646 4,646 C-4-1
5,965
C-5 1
1.0 89,000 89,000
m 3.20 2,120 6,784 C-5-1
m 6.40 1,511 9,670 C-5-2
0.90 13,700 12,330
4.9t 0.70 31,000 21,700 H16.5 P731
139,484
C-6 1
3.0 20,300 60,900
6.0 17,000 102,000
6.0 13,700 82,200
3.0 16,100 48,300
3.0 15,700 47,100
16t 3.0 40,000 120,000{ H16.5 P731
460,500
50
C-7 1
1.0 20,300 20,300
2.0 17,000 34,000
2.0 13,700 27,400
1.0 16,100 16,100
16t 1.0 40,000 40,000{ H16.5 P731
8t 1.0 18,352 18,352 C-7-1

156,152




C-8 1
0.5 20,300 10,150
1.0 17,000 17,000
1.5 13,700 20,550
16t 0.5 40,000 20,000| H16.5 P731
67,700
C-9 ) 1
0.5 20,300 10,150
1.0 17,000 17,000
1.5 13,700 20,550
16t 0.5 40,000 20,000| H16.5 P731
67,700
C-9’ ) 1
1.5 20,300 30,450
3.0 17,000 51,000
4.5 13,700 61,650
4.9t 1.5 31,000 46,500/ H16.5 P731
189,600
65 m/
C-10 1 m
1.0 20,300 20,300
2.0 17,000 34,000
2.0 13,700 27,400
4.9t 1.0 31,000 31,000| H16.5 P731
112,700 1
im 1,734 =
100 m/
C-11 1 m
1.0 20,300 20,300
8.0 13,700 109,600
4.0 1,050 4,200 P278
1.0 13,410 <10
147,510
1m 1,475 =
C-12 1
( 3.5m/ <2 m 7.0 1,429 10,003 C-12-
( 3.0m/ <0 m 1,756 C-12-1"
( 3.2m/ =<0 m 1,756 C-12-1"

10,003




C-1-1 1
1 1.0 237,134 237,134 C-1-2
2 1.0 271,267 271,267 C-1-3
508,401
C-1-2 1
1.0 237,134 237,134
237,134
4.6 m/
C-1-3 1
@400mm 1.0 2,588 2,588
43 390 16,770
1.0 1,188 1,188
@400mm 1.0 20,125 20,125
2.43m 42 319 13,398
5.5m 19 258 4,902
58,071 1
1 271,267 ><
C-2-1 1
20.0 79 1,580 C-2-2
0.57 14,100 8,037 C-2-3
2t 1.0 3,260 3,260 P32
1.0 129 <1
13,006
.. C-2-2
20 |
2t >
88 kW >0.054 L/kW h  5(L/h)><
= 20 (L/ )
... C-2-3
0.57 |
x<
4 4 7
1/7 =< 4 /
057 (/)
/ ... C-2-5
4 [n/
4.6 m/
C-3-3 1.m
4kW 1.0 2,160 2,160 P96
2kW _200L <2 1.0 1,570 1,570 P98
3,730 1
im 811 =+
5.50m 19 37 703
im 1,514




4.6 m/
C-4-1 1 m
4kW 2.0 2,160 4,320 P96
2kW 200L ><2 2.0 1,570 3,140 P98
7,460 1
im 1,622 =
2.43m m 42 72 3,024
1m 4,646
C-5-1 1 m
0.010 20,300 203
0.076 19,200 1,459
0.021 13,700 288
250A 0.076 222 17 P264
kg 0.4 295 118/ H16.5 P708
1.0 35 <30
2,120
C-5-2 1 m
0.007 20,300 142
0.053 19,200 1,018
0.020 13,700 274
m3 | 0.163 250 41[H16.5 P714
kg [ 0.028 1,000 28| H16.5 P714
1.0 8 =30
1,511
C-7-1 1
[ 20.0 79 1,580 H16.5 P712
0.50 14,100 7,050
8 1.0 9,540 9,540 P34
1.0 182 <1
18,352
C-12-1 1 m
0.006 20,300 122
0.051 19,200 979
0.019 13,700 260
1.0 68 <5
1,429
C-12-1' 1 m
0.008 20,300 162
0.059 19,200 1,133
0.022 13,700 301
1.0 160 <10

1,756




B-4 1
28.0 8,182 229,096 B-3-1
1.0
229,096
B-4-1 1
0.14 17,000 2,380
26.0 79 2,054
150mm 7.5kW 1.2 490 588/ H16.5  P727
25KVA 1.2 2,500 3,000[H16.5  P728
1.0 160 <2

8,182
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1=3 =< ( 30 0.075 < a x 3
3 3
0.07% 0.075mm 30 30
0.075= 15
(o
o 300(g/9)—+ 9/9
300 400(g/g)
250 350(g/q)
50(9/9)
(o 300 —= 300 1.00
B B 1.0
B 1.05
B 1.1
1+3 =< (30 15 ) <  1.00 x 1.00 5.00 ( / °
@ ’
30 0.075 40 0.25 50 2.0 =<4-=5-=100
3
0.07% 0.075mm 30 30
0.075= 15
0.5 0.25mm 40 40
0.25= 22
0 2.0mm 50 50
50 50 2.0 50
{ 30 15 40 22) (50 50 ><4-+5--100 0.26
(©)
x< x< y
3
2
U4 =<2 ?
TT/4 =< 0.541 0.02 <2 ? 0.265
3
v 1.5 1.8
0.265 < 0.26 < 1.50 0.103 ( 3
@
x<
3 3

5.00 > 0.103 0.52 /



